KANGOUROU MATHEMATICS COMPETITION 2022: LEVEL 1-2 / EMINEAO 1-2

3 povadeg

1. Which box contains the most triangles?
ITowo KouTi mepLEXeL Ta IeEPLocOTEPU TPLYRDVA;
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2. Arek cuts this picture in half and puts the two pieces together.
O Apng Ko6Be1l autn) tnv e1kOvVaA 0TI PUEOT) KAl eVRVEL Ta U0 KOppATLa.

X

Which option shows the two pieces of Arek’s picture?

[Tova emdoyr) Seixver ta 6Uo Koppdtia THE elKOVaAg Tou Apn;

A E (B) ©
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3. The picture shows 5 identical bricks. H sikéva Seiyvel 5 mavopoidtumna tovBAa.
How many bricks are touching exactly 3 otherbricks? I1ooa touBAa ayyidouv akpiBong aAAa 3 TouBAas

A1 (B) 2 (©) 3
(D) 4 (BE) 5




Pre-Ecolier Finalized

4. Onesandwich and one juice together cost 12 euro. One sandwich and two juices together cost 14

euro.

Eva odvtourtg kau ¢vag xupog padi kootidouv 12 eupw. 'Eva oavtourtg kal §uo xupot padi

Kootiouv 14 eupn.

How much does one juice cost?
IT6o0 KooTidel evag Xupog;

A1 (B) 2 © 3 (D) 4

5. There has to be 2 coins in each row and each column.
ITpémel va vnmdpxouv 2 vopiopata oe KaOe oe1pd Kar KaBe otnAn.
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Where do you need to put the final coin?
[Tou mpemner va BaAete to TeALKO VOpLoUas

A) A (B) B © C (D) D

6. A monkey has torn a piece from Captain Jack’s map.
'Evag miBnkog ¢0k1oe eva Koppdtt amd tov Xaptn tou Kamtev Tdaxk.
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Which is the missing piece?
ITowo eival To KoppdTL Iou Aeimet;
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KANGOUROU MATHEMATICS COMPETITION 2022: LEVEL 1-2 / EMINEAO 1-2

7. Peter puts the 4 puzzle pieces shown together to make a square. Which picture can he make?
O ITétpog evavel ta 4 xoppdtia tou mad) Iou @aivovtal yia va Kavel eva tetpaynvo. Ilowa etkova

pIopel va Snpuioupynost;

R4AEN

(A)n (B). (C)n (D)n (E)n

8. Someink spilled on a piece of squared paper, as shown in the picture.
How many of the squares have ink on them?
Atyo pedavi xubnxke oe &va TeTpAyOVo XapTL, OIS QAlveTal 0TV
eukova. ITooa amo ta tetpayova £xouv peddvi mave tougs

A) 16 B) 17
(C) 18 D)19
(E) 20

’ 4 points, 4 povadecg
9.Kanga wrote down a number and then covered each digit with a shape.
Different digits were covered by different shapes, and the same digits were ' ‘ ‘ * ‘
covered by the same shape. Which number could be written under
these shapes?
O Kavyka eypawe evav aplBpo kar petd kaduwe kabe wnelo pe eva
oxnua. Ata@opeTikd Pneia KAAUIITovtay amd S1a@opeTika oXHuata Ka
ta 16w wnela kodumtoveav amd to i6wo oxnpa. Ilovog apiBpog Oa
HIIOPOUOE VA YPAPTEL KAT® OO AUTA TA OXI 0TS

(A) 34426 (B) 34526 (C) 34423 (D) 34424 (E) 32446

10. Oneanimalsleepsineachofthebaskets. The koala and the fox are sleeping in baskets with the
same pattern and shape. The kangaroo and the ostrich have the same pattern on their

baskets. Which basket is the puppy sleeping in?
Eva {®o xowpdtal oe kaBe eva amd ta Kaddbia. To kodda xat n aAemou Kovpouvtal og KaAdbia pe

o 1610 potiBo xav oxnpa. To Kaykoupo xau 1 otpouBoxrdapndog £xouv to 1610 potifo ota Kaddbia

TOUg. Xe Moo KaAdOL Kovpdatal Tto KouTtdbi;
1 4 ——-.H. 5

ng_o“'
basket 4 basket 5
KaAaoL 1 KaAaBL 2 KaAaoL 3 KaAabL 4 KaAaBL 5
A1 (B) 2 © 3 (D) 4 (E) 5
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11. Kanga wants to reach the koala without going through any of the coloured squares.
O Kavyka 6¢Aet va @taoel 0To Kodda XOPLg va Imepdoel armd Kaveva armd ta XP@HATIOTA TeETPAY@VA.

b

call

Whichroutecouldshe take? ITowa Srapopr) Ba propotioe va axoloubrioet;
(A) .‘ij’-»-nf-»-nf»-mﬁi} B) [ttt ¢
© SISt T D) SEHPTTDDT Tt ¥
(F) DT I2>9E

12. Inoneofthe pictures below, a shapeisused that cannotbe seeninthe others. In which picture is
1t? Xe pia amod Tig IapaKAT® e1KOveg, XP1OLI0IIoLelTal £va oxXI)a mou dev gaivetal otig dAAeg.
2ie TIola eLKOVA £1VatLs

T

A (B) ©

(E) i l

13. Which option shows the view from above this stack of discs?
ITova emAoyn Seixvel tnv mpoBoAn amd mave autng tng otoibag S10K0V;

(D)
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14. Which of the following pictures will we see when we use the stamp shown?
ITova amd Tig mapaxdate eukoOveg Ba Soupe dtav XpnoLpoIoooupe T ogpayida mou @atvetat ;

A obd (B) dhyo © dao (D) bﬁ@ (E) bdo

i
2

15.Katrin builds a path around each square using tiles like the one shown.

H Katepiva xtider £va povordtt yupw amod Kabe tetpdywvo XPNolHoIol®vTag IMAGKAKLA OII®E AUTO
IIoU @aivetart.

How many tiles does she use around a square with side 57

[Tooa mAakaxia Xpnotporolel yUpm amo €va Tetpdy®vo pe mAeupd 5;

(A) 10 B)11 (©) 12 (D) 14 (E) 16

16.Ann has 4 stickers as shown. ‘ . C A

She sticks down the star after she sticks down the square. She sticks down the star before she
sticks down the triangle. Which picture could she end up with?

H Avva £xel 4 autokOAAnta onwg gaivetat. KoAAdet to aotept a@ol KOAANOEL TO TETPAYRDVO.
KolAder to aotéptl mprv koAAnoet to tpiyovo. Me mola eikova Ba pmopouoe va Katadn et

N @ (B) Z‘ © & (D) QE (E) @
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5 povadeg

17.The sum of the five numbers in each house is 20. Some numbers
have been painted over. What number is hidden under the question
mark?
To aBporopa tewv mevte aplbpwv oe KaBe omity eivar 20.
Mepikotl aprBpol exouv xaAu@del pe proyud.
[Tovog ap1Bpog kpuBetal Kdtw arod to ? ;

) 3 (B) 4 © 7 D9 () 14

18. Some lawns are shown below. Which lawn is the smallest?

Mepikoi xoptotarmnteg gaivovtal mapakate. ITolog xoptotdnmtag eivat o pikpotepog;
[ ]
A & (B) @ ©
@ .
(D) (E) S :

19. Each year, Maria received teddy bears for her birthday. For her first birthday she received
1 teddy bear. For her second birthday she received 2 teddy bears. For each subsequent birthday
she received one teddy bear more than the previous year. How many teddy bears does Maria
haveintotal when sheis 6 years old?

Kda&be xpovo, n Mapia AapBave aproudaxia yiua ta yeveéBArd tne. I'a ta mpota tng yeveBAra ¢daBe
1 aprouddaxt. I['ia ta Seltepa yevebALd tng ¢Aabe 2 aproudaxia. 'ia kaBe emdpeva yevebAva
AduBave eva apKOUSUKL IIEPLOCOTEPO AIIO TO MPONYOUHEVO £TOC.

[I6oa apkoubaxkia exel ouvodikd 1 Mapia otav eivar 6 £tov;

) 19 (B) 20 (©) 21 (D) 22 (E) 23

20. Dino moves from the entrance to the exit by going through rooms. He can only go through each
room once. Dinoadds upthe numbersashe passesthrough eachroom. Whatisthe highesttotal Dinocanmake?
O Nrtivo ruwvettal amd thv eioodo otnv 060 mepvovtag peoa amd dopatia. Mmopel va mepdoet
arod xabe Sopatio povo pia gopd. O Ntivo mpooBéter toug apiBuoug kabwg mepvda amod kabe Sopdtio.
ITovo eival to peyaAutepo oUvoAo mmou pmopetl va metuxel o Ntivo;
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) 27 (B) 29 (© 32 (D) 34 (E) 36
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21.In the picture, each shape stands for a different number. Which OO O 18
numbershould be writtenin the place ofthe question mark ?
2Tnv £1KOva, KaBe oX1pd avTuIpooIevel vayv Sta@opetiko aplopo. 1A OO
ITovog ap1Bpodg mmpemet va ypaget oty 0£on tou ? ; A O A 10
5
(A) 10 (B) 12 ©) 14 14
(D) 16 (E) 18
22. Three zebras take part in a contest. The winner is the zebra with the most stripes. Runa has 15

23.

24.

stripes, Zara has 3 more than Runa. Runa has 5 fewer stripes than Biba. How many stripes does
the winner have?

Tpewg (eBpeg maipvouv pgpog oe evav Srayoviopo. Nikntpia eival n {eBpa pe tig mepLocotepeg
paBdwoeig. H Pouva exelr 15 paBbooeig, n Zapa £xel 3 meproocdtepeg amnd tn Pouva. H Pouva
exel 5 Avyotepeg paBdwoerg aro tn Mmipmna. [1ooeg paBbmoelg £xer n vikrntpias

) 16 (B) 18 (©) 20 (D) 21 (E) 22

Kangy’s car can only turn left. It can never turn right. Which of the following five routes can
Kangy take?

To autoxkivnto tou Koota pmopel va otpiyetl povo aprotepd. Aev pmopel mote va otpiyet 6edia.
[Tova amo Tig akdAoubeg mévte Suadpopeg pmopel va akodoubnoet o Kootags

Iy (5 )| |5

) (B) © (D) (E)

There are five numbered cards on the table as shown.

You may swap two cards at each step. What is the 3 4 1 5 2
smallest number of steps needed to put the cards into

increasing order?

Yndapxouv mevte apiBunpeveg Kapteg 0to tpamnedl OmIeg
paivetat. Mmopeite va avtadlaete 600 Kapteg o KGOe
Brpa. ITovog eivar o mxpodtepog aptBog Bnudtey mou
amartouvtal yia va tomofetnBouv ol Kapteg o auouoa
oeLpN;

@1 (B) 2 © 3 (D) 4 (B)5



